E08-003

In this circuit, a 6V battery is connected to two identical resistors in series.


(a)
What is the reading on voltmeter V1?

Tick ONE box ()


6V


between 6V and 3V


3V


between 3V and zero


zero

(b)
How would you explain this?

Tick ONE box ()


The battery p.d. is shared, half across each resistor.


The battery p.d. is shared, with the larger share across to the first resistor the current comes to.


The battery p.d. is shared, with the larger share across to the resistor connected to the positive terminal of the battery.


The p.d. across each resistor must be equal to the battery voltage.

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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